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FINANCIAL MANAGEMENT

BTN AR
Time : 3 Hours Max. Marks : 100
Note : A single answer booklet containing 40 pages will be issued.
o No additional sheets will be issued.

SECTION — A (15 Marks each)
DN — & (15 L03nsh [e3)

l.  Answer the following : c .. (15x3=45)
593 FEROR ugor0: | |
\ 1) What s financial management ? Explain the scope of financial management.
BEOTORE VSF B DOTSERD 7 &5TT QO D[ORD.
OR/e=5=

Explain the sources of long term finance for a firm.
o B SR emrs Beosr Hedosoms Heurid HORO.

2) The following details from the proforma cost sheet of a company is obtained.
20030 FOTROD ﬁzi W00 B3 BENT émodar{e;g’% TBODING.

Cost/Unit (%)

TS oA d%(m.)
Raw material 79
%’mﬁ#g
Direct labour 45
L {019)

P.T.0.
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Overhead 30
e B,

Total cost per unit 150
T® 030 S W) =%,

Profit 50
oy '

Selling price 200
S0t B3 S

The following particulars are available :
& BENS HRoPA @zjéébd :
a) The proposed level of activity is 25,000 units.
BRI Zmes 25,000 RN T,
b) Raw materials aré expected t0 remain in stores for 3 months.
R eTAINE,BERRR 2BIR LR 3 SORFONTO.
&) Material in process 1 month. -
ajﬁéoﬁ@mdad 2080 Ve BONER. -
d) Finished goods stock for 2 months.
TR 0@ RA2 Son0.
g) Credit allowed to debtors 2 months.
OO0 2eRT BRH2 SONS0.
f) Credit allowed by suppliers 272 month.
PORG VR s @Rnp2%2 SOTE0.
g) Minimum desired cash palance3 45,000.
o RL3eTT TR gmmd 3N VeI 23 OR- 45,000.

Prepare statement showing estimation of working capital requirement.
%ﬁo@é wocém@aﬁa’%tﬂom‘aw RREOB A 35083730 BOITRORD:

oL

OR/es5ew?

Explain the factors determining capital structure of the firm.
LOBTIIT 333030, FORR 203N, DROXD.
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3) Explain the factors influencing working capital requirements of a firm.
c§j§o®a§ wocéaa'aeﬁaﬂag AP OROR eﬁoéﬁe;}dg( DIOXO.

OR/eagges

i The following details relate to a project proposal :
Tpeeds BRFRRON ROvIOTTE, D30 B3 FPNT08R :

Cost of project : X 2,00,000

el 5, Cot
) B Life of the project : 5 years
Fperde’ S BWeIWRS
Year Cash inflows PV of Re. 1at 12%
®)
1 50,000 | 0.893
2 60,000 0.797
3 85,000 0 7 4 I
4 90,000 0.636
& 1,00,000 0.567
Company follows straight line method of depreciation.
0O FomRodn # ¢5° GF° BR3P SROROIT

Compute the following :
21 39NSITTR) BOBHRAD:
a) Payback period
e W QeTTE®
b) NPV at 12%
2. &.0. 12%
c) Profitability index 1 2%
I8 aowE 12%
d) Average rate of return.
dTees® Bee3’ 53 O F.
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SECTION - B (5 Marks each)
Q-9 (5 LoEnH=RI)

‘Il. Answerany sixquestions : (5x6=3(
ARYTRTTR BT TIRII) YVZ0R0:
1) Explain the importance of capital budgeting.
AR WIS T,R0NFOD) DTORO.

2) Explain the merits and demerits of trade credit.
0,70 WOT LIBROI R8) STRIBROSOBR DTFORD.

3) What are the drawbacks of profit maximisation objective /
LT TWORRBHOL mcﬁcgsd SRIVBRCRNTS), QROR0.

4) What are the motives for holding cash ?
[N Smﬁﬁa L BERRORTLD FITEANT CBRID) ?

5) What are the concepts of cost of capital ?
OBV aﬁz:u;cﬁ TOBORNEDL oIRDR) ?

6) Sangram Ltd. issues 12% debentures of ¥ 100 each redeemable at par after
5 years. If debentures are issued at 10% premium and 5% floatation coston
face value. Compute after tax cost of debenture. Assume tax at 40%.

ROTR,3* F0TR0IN5 RRF312% w%ddd 8. 1000 333 TOT VSR, PIR0DE
SINBERT. FoTII WOTTHR, 1 0% &ye00300 F23 5% S0 Boed
TOBZTII, RS sDF Aed BRTAS INATS, MOV 3,57, &I0TTC B3 7
(emEeTees 40%)

7) Calculate financial leverage, operating leverage and combined leverage from
the following :
BN, e303eE30M° TOTIR 50?.%5‘;@56@%5& FoRBIERONO.

T (Bn.)
Sales 12,00,000
(Epiept)
Fixed cost 2,00,000

(Ror 03 %)
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Interest 70,000

(28)
Variable cost 5,00,000
( Cﬂ&'\)é;f daéu)
8) From the following calculate EOQ as per Tabular method.
33 89N QRENPT EOQ Fom0BOWD, E3,W000° 3R,
Order size (in units)
AOQ B@RED 2000 1000 500 250 200
Annual consumption 2000 units
(& 2TT) ' T
Ordering cost  Z50/order s spiten PN
(Ro0 F3)
Carrying cost T 1 per unit
(59,00n° 23)
SECTION - C (3 Marks each)
TR- 2 (3 oENLRRI)
Answerany five questions : ~ (3%5=15)

RIS DR BIRIR) CZ0R0:

1) What is wealth maximisation ?

oo d)g&;:’%ﬁ@é@f 20T3BeD ?

2) What are the objectives of inventory management ?

St TR ARF BEal CUTEBE: AR ?

3) What s leverage ? Explain.

ORTe® 0TI ? NORD.
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4) What are the costs associated with receivables management ?
DRI eET DR BIRCI FOWORS aﬁz:-izﬁ%}o IR ?

5) What is operating cycle ?
esSeLdon” RFO° DOTTERI ?

6) An equity share of the company is currently selling at ¥ 60. The company
expects to pay% 6 per share atthe end of current year. Dividend per share is
expected to grow at the rate of 8% p.a. Calculate cost of equity.

305003 Redone B¢ IRToREELS, T 60. BomROD X 6 FB Feort damd
QOBLAL, ARTor"R FracD R 8% B T, o i Somd LAAD

7) The cost of the project is ¥ 1,00,000. The services of cashinflows over the
5 years from the project are% 20,000, % 30,000,% 25,000,% 40,000, ¥ 30,000.

Calculate payback period.

'-"’ogp_)eziﬁfﬁ a’)a'?"j ¥ 1,00,000 538 SRR BOP) O aIRFReR T 20,000, T 30,000,
% 25,000, T 40,000 &n»3 30,000. 537 &8@@&3‘ BOWIEBOD.

" SECTION —D (1 Mark each)
Qyren— & (1 207 =R3)
IV. Answerallthe questions: (1x10=10) 0
B4 39N S, FIRVT SUZORO:
1) What is net working capital {;

DRF o0 WommY D0TBE0?

2) What is venture capital ?
01307 2OBETP DOTIER ?

3) What is time value of money ?
R WO O TR 0TI ?
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4) What are credit terms ?
NTOBROT L35+ i IR 9
5) What is default cost ?
@aé’pw: da‘g’d Q0TI ?
6) What is safety stock ?
ogEso TRTR DOTBERD ?
7) What are mutually exclusive projects ?
RRFROe DTBRXD® T, edET 20TTeRd 9

8) What is internal rate of return ?
YWD I Tets* e5ap° DL OB 9
9) What are preference shares ?

QPI Wedoneh 2033eRd 9

10) What is lease ?
O Q0TBeRd ?
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